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\" A\) Linearized knot diagam
A L
(S A

\

K 6 8 9 12 11 2 3 6 7 8
\llx/\/

¢ .
6 7 Solving Sequence
\Q/lz

6’12»477~>3~>11~>8—>14>10%9*>5—>2%>01,C4,08
Cg C3

. c cr Tepc co " c5 e
A knot dlagranﬂ O 5 2

Ideals for irreducible component#ﬂ)f Xpar

It = (=3u® — 26u!® + - + 7b + 97, —83u?® — 325u!® 4 .- - + 63a + 558, u?! 4+ 5u®’ 4 ... — T2u — 9)
I = (=3ua+5u' + - +a+24, —uMa+2uBa+ - +3a+4, u® —2uM . —4u+1)
I = (—ub — 2u® — 5u* — 6u® — 6u? + b —4u — 1, u® +2u" 4+ 7ub + 10u® + 15u* + 140> + 9u® + a + 5u — 1,

u® 4 2u® 4+ Tu” 4 10u® + 16u° + 16u* + 13u® + 9u? + 2u + 1)
Iy =(b+1, 2u2a+a2—2au+3a+u—l, ug—u2+2u—1>

I ={a, b+1, v+1)

* 5 irreducible components of dim¢ = 0, with total 67 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I} = (—3u?® — 26u'® + --- + 7b 4+ 97, —83u?° — 325u'? 4 - ..

558, u?! +5u?0 + ... — T2u — 9)

(i) Arc colorings

0
a2 = \u

83,,20 4 325,19

sut + =2u - — 66u — =
= (T L B0

1
a7 = u2

Mum + 5’%9 u'? 4 — 161y — 132
as = % + 19 — 95y — 977

U

a1l = \ud+u

u? +1
ag = ’LL4 + 2u2

—ud —2ud —u

ar = \—y” —3u® —2u® +u

ud + 2u
a10 =\ ud+u

% u20 4 3235u19 4. —86u— L
ag = 7uQO + 20 19 4+ — 5% — 57

f%u%— %ungr -4+ 111u + 111
as = 7’11,20 _ % 19 4 1030 + 110

2§u20 2135 194 .. +39u+378
a2: 7u20+1 19+ _~_36u_~_3778
(ii) Obstruction class = —1
(iii) Cusp Shapes = 2u?" + 2! + - — 324u —

+ 63a +



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 Wl +2u -+ 8u+1
C2 u?t +15u* + - 4+ 63u+ 9
€4 Co w? =20+ =110 + 1
Cs5, C8 T T |
Cg, C7,C11 W50+ 20— 9
c10, C12 u?t — bu 4 - - — 2988u — 1413




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3 v 430y 4+ 46y —1
C2 y* —13y%0 + ... — 1377y — 81
c4, Co y?t =220 . 422y — 1
cs, Cg y?t =11y 4+ 421y — 1
C6, C7, C11 y?t +23y%0 + ... 4+ 324y — 81
€10, C12 Y +19y%0 + - - — 3839724y — 1996569




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.834623 4 0.5737051
a = 1.005930 4+ 0.2642581
b= 0.62121 — 1.82385]

6.40877 4 10.264301

—4.52348 — 6.939281

u = —0.834623 — 0.5737051
a= 1.005930 — 0.2642581
b= 10.62121 + 1.82385]

6.40877 — 10.264301

—4.52348 + 6.939281

u = —0.847213 4 0.5867101
a = —0.922945 4 0.1737731
b= 0.16137 + 1.798561

6.42391 — 4.682561

—3.99466 + 2.175601

u = —0.847213 — 0.5867101
a = —0.922945 — 0.1737731

6.42391 4 4.682561

—3.99466 — 2.175601

b= 0.16137 — 1.798561

u= 0.825151

a=—0.722716 —5.68389 —17.0230
b= —0.926404

u = —0.150569 + 1.2810907
a= 0.434742 — 0.4026861
b= 0.074569 + 0.1384391

3.22602 4- 2.418161

—3.53897 — 1.935491

u = —0.150569 — 1.2810901
a= 0.434742 4 0.4026861
0.074569 — 0.1384391

3.22602 — 2.418161

—3.53897 + 1.935491

u = —0.323088 + 0.6176151
a= 0.358624 — 0.5125041
b = —0.096498 + 0.850760.1

0.52795 4 2.174941

—5.93194 — 4.333341

u = —0.323088 — 0.6176151
a= 0.358624 4 0.5125041
b = —0.096498 — 0.850760.1

0.52795 — 2.174941

—5.93194 + 4.333341

u= 0.373837 + 1.3148001
a= 0.363936 + 0.5649611
b= —0.998750 + 0.2048571

—1.57111 — 4.308951

—11.00324 4+ 1.553961




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= 0.373837 — 1.3148001
= 0.363936 — 0.5649611
= —0.998750 — 0.2048571

—1.57111 + 4.308951

—11.00324 — 1.553961

—0.027283 + 1.4127601
= 0.78061 + 1.555761
—1.109230 — 0.6776941

3.18953 + 0.205311

—5.89178 4 0.570611

—0.027283 — 1.4127601
0.78061 — 1.555761
—1.109230 + 0.6776941

3.18953 — 0.205311

—5.89178 — 0.570611

—0.437416 + 0.1033321
0.929988 — 0.5513121
—0.189823 + 0.0283341

—0.974855 + 0.2756191

—10.86571 — 2.549231

—0.437416 — 0.1033321
0.929988 + 0.5513121
= —0.189823 — 0.0283341

> Q@ 2| & €| & €|l & €|l & &
Il

—0.974855 — 0.2756191

—10.86571 4 2.549231

= —0.09149 + 1.571201
= —0.26719 — 1.735521
= 0.33826 + 1.862611

7.94844 + 3.685371

—6.18348 + 2.453381

= —0.09149 — 1.571201
= —0.26719 + 1.735521
= 0.33826 — 1.862611

7.94844 — 3.685371

—6.18348 — 2.453381

= —0.28888 4 1.565971
0.45254 + 2.003941
= 1.01317 — 2.015617

13.4087 + 14.40611

—2.12525 — 6.988401

= —0.28888 — 1.565971
= 0.45254 —2.003941
= 1.01317 4 2.015611

13.4087 — 14.40611

—2.12525 4 6.988401

= —0.28585 4 1.592171
= —0.77487 — 1.526311
= —0.35107 4 2.011421

13.60260 — 0.459941

—1.43013 + 1.468561




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.28585 — 1.592171
a = —0.77487 + 1.526311
b= —0.35107 — 2.011421

13.60260 4+ 0.459941

—1.43013 — 1.468561




II. 1Y = (—3u'a+5u'*+.--+a+24, —u'*a+2u'®a+---+3a+4, u'—

2utt 4 .00 —4u + 1)
(i) Arc colorings
1
ag — O
0
a2 = \u
“ )
= | 3,14 5,14 1 12
aq ﬁu a—ﬁu +—ﬁ&—7

=
[\
—_

4286au'* — 0.357143u'* + - - - + 0.928571a — 1.71429
%u14a7f’—4u14+~~7ﬁa71—72

ayp =
ud + 2u
a0 =\ u? 4+ u
170u14a+ ?u” U - pH 170
ag = \Zulta+ fut+--—28ag-%
—1—14u14a— %ul4+---+ga+rl4
a5 = \ —0.142857au'* — 0.928571u!* + - - - + 0.214286a — 0.357143

Balbg _Byl4 4 ... 412, 9
(14“ a—zu” 4+ Fat g
1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 11u'* — 16u!3 + 97u'? — 120u!! + 326u'® — 337u® + 511u® —
400u” + 342u® — 95u® + 10u* + 150u® — 84u? + 55u — 19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 w0 — 7u? + - — 676u — 329
€2 (u'® — Tu' 4 + 28u — 8)?
C4,Co w30 — 1402 + ... — 641u + 151
Cs,C8 w9 w1
Ce, C7, C11 (u15 — oM 4. —élcu—l—l)2
€10, C12 (u® 4+ 2u' - —16u +5)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c3 30 +33y% + .- + 1028130y + 108241
€2 (y*® — Ty + - + 528y — 64)?
c4, Co y30 — 28y + ... + 125773y + 22801
Cs,C8 O+ 18y 4+ — 35y + 1
C6,C7, C11 (Y + 16y + - — 4y — 1)?
€10, C12 (y'® + 16y" + - — 344y — 25)?

10



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

uw=0.783022 + 0.5487481
a = —0.815000 — 0.0704791

b= 0.23196 — 1.72434]

7.57107 — 2.603121

—2.84235 + 2.921841

u= 0.783022 4 0.5487481
a= 1.150630 — 0.405666.1
b= 0.61243 + 1.618791

7.57107 — 2.603121

—2.84235 + 2.921841

uw=0.783022 — 0.5487481
a = —0.815000 + 0.0704791
b= 0.23196 + 1.724341

7.57107 + 2.603121

—2.84235 — 2.921841

uw=0.783022 — 0.5487481
a= 1.150630 + 0.4056661
b= 0.61243 — 1.618791

7.57107 + 2.603121

—2.84235 — 2.921841

u = —0.216855 + 1.2215301
a= 0.741221 — 0.4056181
b= —-0.661072 + 0.4608121

1.58567 + 3.389861

—3.26125 — 8.753761

u = —0.216855 + 1.2215301
a= 0.660981 + 1.0100401
b= 0.913612 + 0.0218441

1.58567 + 3.389861

—3.26125 — 8.753761

u = —0.216855 — 1.2215301
0.741221 + 0.4056181
b= —-0.661072 — 0.4608121

a =

1.58567 — 3.389861

—3.26125 + 8.753761

u = —0.216855 — 1.2215301
0.660981 — 1.0100401
0.913612 — 0.02184471

a =

b:

1.58567 — 3.389861

—3.26125 + 8.753761

—0.699136
0.498930
= —0.445090

—2.08475

—3.31340

= —0.699136
1.87307

U
a
b
U
a=
b= 0.972659

—2.08475

—3.31340
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 0.061637 + 0.6083651
= 0.934694 + 0.2930271
0.986562 + 0.5569211

1.61379 + 2.574961

—1.10179 — 1.011101

0.061637 + 0.6083651
= 0.94855 — 1.352971
—0.329324 4 1.0420701

1.61379 + 2.574961

—1.10179 — 1.011101

0.061637 — 0.6083651

0.986562 — 0.5569211

1.61379 — 2.574961

—1.10179 + 1.011101

0.061637 — 0.6083651
0.94855 + 1.352971
—0.329324 — 1.0420701

1.61379 — 2.574961

—1.10179 + 1.011101

0.09920 + 1.465531
—0.395823 — 0.6461911

U
a

b

U

a

b

U

a= 0.934694 — 0.2930271
b

U

a

b

U

a=

b = —0.609648 + 0.0439691

6.22877 — 5.978071

—2.99155 + 7.208501

uw=0.09920 4 1.465531
a = —0.26994 + 2.771901

b= —0.31360 — 2.406951

6.22877 — 5.978071

—2.99155 + 7.208501

u= 0.09920 — 1.465531
a = —0.395823 + 0.6461911
b = —0.609648 — 0.0439691

6.22877 + 5.978071

—2.99155 — 7.208501

u=0.09920 — 1.465531
a = —0.26994 — 2.771901
b= —0.31360 + 2.406951

6.22877 + 5.978071

—2.99155 — 7.208501

u = —0.01760 + 1.528991
a = —1.250130 — 0.5007011
b= 2.00715+ 0.636051

8.69622 + 2.659961

1.50438 — 2.014761

u = —0.01760 + 1.528991
a= 0.23286 — 2.068111
b= —0.18397 4 1.612891

8.69622 + 2.659961

1.50438 — 2.014761

12



Solutions to I3

V=1I(vol + /=1CS)

Cusp shape

u = —0.01760 — 1.528997
a = —1.250130 + 0.5007011
b= 2.00715 — 0.636051

8.69622 — 2.659961

1.50438 + 2.014761

u = —0.01760 — 1.528997
a= 0.23286 + 2.068111
b= —0.18397 — 1.612891

8.69622 — 2.659961

1.50438 + 2.014761

u= 0.367791 + 0.2878691
a = —1.078570 4 0.7477721
b= —0.34613 — 1.554731

0.39798 — 4.387671

—9.5578 + 11.06821

u= 0.367791 + 0.2878691
a = —1.52156 — 2.492961
b= —0.006820 — 0.3121351

0.39798 — 4.387671

—9.5578 + 11.06821

u= 0367791 — 0.287869]

a = —1.078570 — 0.7477721 0.39798 4 4.387671 | —9.5578 — 11.06821
b= —0.34613 + 1.554731

u= 0.367791 — 0.2878691

a = —1.52156 + 2.492961 0.39798 4 4.387671 | —9.5578 — 11.06821

b = —0.006820 + 0.3121351

u= 0.27238 4 1.547951
a = —0.97464 + 1.652791
b= —0.05742 — 2.015951

14.4273 — 6.48791

—0.59296 + 3.622051

u= 0.27238 4 1.547951
a= 0.45074 —1.923431
b= 0.99248 + 1.706581

14.4273 — 6.48791

—0.59296 + 3.622051

w= 0.27238 — 1.54795]

a = —0.97464 — 1.652791 14.4273 + 6.48791 | —0.59296 — 3.622051
b= —0.05742 + 2.015951
w=0.27238 — 1.54795]
a= 0.45074 + 1.923431 14.4273 + 6.48791 | —0.59296 — 3.622051

b= 0.99248 — 1.706581

13



L 1Y = (—u® — 2u® — 5u* — 6ud —6u? +b—4u—1, ud +2u” +-

1, u? +2u+---+2u+1)

(i) Arc colorings

—u® — 2u” — 7ub — 10u® — 15u? — 14ud — 9u? —5u+1
u® 4+ 208 + 5ut + 6ud + 6u +4u+ 1

—u® —2u" — 6u’ — 8u® — 10u* — 8u® —3u? —u+2
ub + 2u® + 5ut + 6u + 6u? + du + 1

—u" —2ub — 6ud — 8u* — 10u® —9u? —4u—3
—u® — 2u” — 6ub — 8u® — 11u* — 9u® — 6u? — 3u

—u® —2u" — 7w —9u® — 1wt — 11 — Tu2 —3u+2
u” + 2ub + 6u® + 8u* + 10u® + Su? + 4u + 1

—u® —2u" — 6u’ — 10u® — 13u* — 16u® — 11u? — 9u — 3
—u — b —4ud —3ut — 4P — 2%+ 1

(ii) Obstruction class =1

(iii) Cusp Shapes = u® — 4u% — 13u® — 32u* — 38u® — 40u? — 24u — 8

14
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,C3 u? 4+ 3u® + 907 + 1408 + 18u® + 18u* + 13u + 8u? +du+ 1
C2 u® +12u® + - 4+ 401u + 89

C4,Co w —u® — T+ 208+ 2u° — 20t — P+ 20— 1

Cs,C8 W =2 — w2+t — 2 -t u+1

Ces C7 u? 4+ 2u® + Tu” 4+ 10u® + 16u” + 16u* + 13u® + 9u® + 2u + 1

€10, C12 u® 4+ 2u® + 3u” 4+ ub — 18u® — 20u* — 4u® — 11u® — 1
c11 u® = 2u® + Tu” — 100 + 16u° — 16u* + 13u® — 9u® + 2u — 1

15



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c3 v +9y® + 33y" + 46y° + 14y° — 14y* — 3% + 49% — 1
C2 y? —6y° + - + 8789y — 7921
c4, Co y? — 3% +9y" — 1495 +18y° — 18y +139° — 8y® + 4y — 1
Cs,C8 v — 4y® + 8y — 13¢5 +18y° — 18y + 149> — 9y® + 3y — 1
C6, 7, C11 y? +10y® + 41y" + 86y° + 86¢° + 4y* — 75y — 61y — 14y — 1
€10, C12 y? + 2% — 31y" — 37y° + 384y° — 230y* — 422y° — 161y% — 22y — 1

16



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u = —0.942156
a= 0.835924 —4.78668 —6.85480
b= 0.693833

u = 0.025437 4 1.2194901
a = —0.848257 + 0.4996271
b= —0.174357 — 0.7575571

3.87432 — 3.774541

—1.17699 + 5.611511

u = 0.025437 — 1.2194901
a = —0.848257 — 0.4996271
b= —0.174357 + 0.7575571

3.87432 + 3.774541

—1.17699 — 5.611511

u = —0.465053 4 1.2579201
a= 0.128314 + 0.5003191
b= 0.628101 + 0.2781641

—0.89563 + 5.006721

—5.11040 — 6.890721

u = —0.465053 — 1.2579201
a= 0.128314 — 0.5003197
b= 0.628101 — 0.2781647

—0.89563 — 5.006721

—5.11040 + 6.890721

u = —0.05596 + 1.560081
a = —0.27494 — 1.814101
b= 0.58625 + 1.898141

8.14041 4 4.218231

—1.16365 — 10.146421

u = —0.05596 — 1.560081
a = —0.27494 + 1.814101
b= 0.58625 — 1.898141

8.14041 — 4.218231

—1.16365 + 10.146421

u = —0.033345 + 0.4020521
a= 2.07693 —1.087991
b= 0.113094 4 1.1260001

1.14384 + 3.689081

—2.12153 — 6.552111

u = —0.033345 — 0.4020521
a= 2.07693 + 1.087991
b= 0.113094 — 1.1260001

1.14384 — 3.689081

—2.12153 + 6.552111

17



IV. I} =(b+1, 2u?a+a®*—2au+3a+u—1, u® —u?+2u—1)

(i) Arc colorings

2ufa —au+2a+u+1
wa—au+ui+ta+l

a5 =
a—1
a2 = —1
(ii) Obstruction class =1

(iii) Cusp Shapes = —5u? — 16

18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3 (u — 1)6
Co u6
€4,C5,C8 Wt —3ur =3P+ 3w +u—1
cy
Ce, C7 (u® —u? +2u —1)?
€10, C12 (u? —u? +1)?
c11 (u® +u? +2u+1)2

19



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C3 (y—1)°
Co y6
4,65, 8 y® — Ty’ +21y" — 31y° + 21y — Ty + 1
cy
€65 C7,C11 (v* +3y* +2y — 1)?
€10, C12 (v’ —y*+2y—1)°

20



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

uw=0.215080 + 1.3071401

a= 1.153780 + 0.2651341 1.37919 — 2.828121 | —7.68821 — 2.811401
b = —1.00000

uw=0.215080 + 1.3071401

a = —0.398899 + 1.2245901 1.37919 — 2.828121 | —7.68821 — 2.811401
b = —1.00000

uw=0.215080 — 1.3071401

a= 1.153780 — 0.2651341 1.37919 + 2.828121 | —7.68821 + 2.811401
—1.00000

0.215080 — 1.3071401

= —0.398899 — 1.2245901 1.37919 + 2.828121 | —7.68821 + 2.811401
= —1.00000

0.569840

0.161059 —2.75839 —17.6240
= —1.00000

= 0.569840

—2.67081 —2.75839 —17.6240
= —1.00000

b
]
a
b
U
a
b
U
a
b

21



(i) Arc colorings

V.I? ={a, b+1, v+ 1)

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4 u+1
Cs5, C8, Co
C2,Cg, C
2,06, C7 U

€10, C11, C12

23



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y— 1
Cs5, C8, Co
C2,Cg, C7 y

€10, C11, C12

24



(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0 —1.64493 —6.00000
b = —1.00000

25



VI. u-Polynomials

Crossings u-Polynomials at each crossing
(u—1)%(u+1)
c1,cC
b (€ + 3u® 4+ 9uT + 1408 + 18u° + 18u* + 13u® + 8u? + du + 1)
(w420 4 Su+ 1) (w0 — Tu® 4 - — 676u — 329)
s u’ (u® +12u® + - -+ 401u + 89) (u® — Tu't + - - + 28u — 8)?
(u +15u* + -+ 63u +9)
(w+1)(u® +u® — 3u® — 3u® + 3u® +u—1)
Cq,C
o S —u® — " 4 208+ 2u° — 2t — B 20— 1)
(=20 4 = 11 1) (60 — 140 + - — 641w+ 151)
(u+ 1) (uS + u® — 3u® — 3u® + 3u? +u —1)
Cs, C
o =24 Fut D) = e —u 1)
(W 1)
u(u® —u? +2u—1)2
Ce,C7 = .
(u® 4 2u® + Tu” + 1068 + 16u° + 16u* + 13u® + 9u? + 2u + 1)
(= 2ut o —du+ D)D) (WP 45 - — T2u - 9)
¢10, €12 u(u® —u? +1)2(u® 4+ 2u® + 3u” 4+ u® — 18u° — 20u* — 4u® — 110 — 1)
(w4 2ut 4 — 16w+ 5)?) (ut — 5u0 - — 2988w — 1413)
u(u® +u? +2u+1)2
C
H (® — 2u® 4+ TuT — 1008 + 16u° — 16u* + 13u — 9u? + 2u — 1)
(= 2uM 4 — 4w+ DB (W 4 5u 4 = T2u - 9)
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VII. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1. s (y—1)"(y° +9y® + 33y" + 46y° + 14y° — 14y* — 3y° + 4y* — 1)
(Y 430y + -+ 6y — 1) (y%° + 33y + - -+ + 1028130y + 108241)
Co y (y° — 695 4 - + 8789y — 7921)(y*® — Ty + - - 4 528y — 64)?
S(y?t = 13y*0 4. — 1377y — 81)
(y — 1)(y% — 79° + 21y* — 313 + 2192 — Ty + 1)
Cy4,C
o (y° — 3y® + 9yT — 14y + 18y° — 18y* + 13y° — 8y + dy — 1)
Syt =22y 4 22y — 1) (30 — 28y 4 - -+ + 125773y + 22801)
(y — 1)(y° — 79 + 21y* — 3193 + 2192 — Ty + 1)
Cs, C
o (y° — 4y® + 8yT — 13y° + 18y° — 18y* + 14y% — 9y + 3y — 1)
S =11y 4 21y — 1)(P0 18y - = 35y 4+ 1)
y(y® +3y* +2y — 1)°
6, €T, €11 9 8 7 6 5 4 3 2
(y” +10y° + 41y" + 86y° + 86y° + 4y* — 7Hhy° — 61y” — 14y — 1)
(P 16y 4 =4y — 1) (#2370 + - 324y — 81)
y(y® —y* + 2y — 1)°
C10,C12

(y° + 2y — 31y — 37y0 + 384y° — 230y* — 4224° — 161y% — 22y — 1)
(y'® + 16y" 4 -+ - — 344y — 25)?
(y?t 4 19y 4 - .. — 3839724y — 1996569)
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